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H 1| —HEEIS 4|BEARTHAZE2T B0 BEARTILE2TB17 15 171 153 18 0 0
il 1| —HEEIS 4|REATILE2THI7 BEAMIEH4THG6 4.1 926 735 83 0 108
1 4| —HEEIEEL/ 1 /3R) A|RERTUEKEIMS T HE |REARTAEKIITHGE 0.3 54 54 0 0 0
il 4| — R EE3SEL/ N 1 /XR) 4| BEATRASTHT REATREHEREANITHS 2.5 190 190 0 0 0
i 4| — e EEIB UL/ 1 /8R) 4|REARTEKFMAT BS |REATRAITHY 1.2 120 120 0 0 0
1 4| —EEIS L/ N (/3 R) 6|REATHAEAMMITHS [AEAmEmans T B 162 162 0 0 0
il 2| —HRENESTS 6|REATHARIT B 11 REATHIL4T H56 1.1 438 438 0 0 0
il 1| —fAREES TS 6|BEATHHLL4T B56 REAm EKAETF2TH2 1.2 504 504 0 0 0
i 4| —fREE5TE 6|lEAT LKBIF2T H2 |ReAmEE4T BI 1.7 736 736 0 0 0
i 1| — R EES7S 6|REAT IR KAFHAS |[EATHSITHI 29 376 375 0 1 0
il 1| — R EE2665 6|REARTRIAEAR4T B7 REAMAESTHI8 788 779 2 0 7
i 4| —fREE4435 2| B T/NLET REZR /N LT 0.2 5 5 0 0 0
il 4| — MR EE4435 4| REATH /MUY REATH P BHT 0.3 2 2 0 0 0
il 4| — MR EE4435 4|REARTH P SHBT BEARTh = SHT 1.6 4 4 0 0 0
il 4| —RREiE4435 2| RERmi/MLIET AT R SHT 0.3 9 9 0 0 0
il 1EERS HIR 6| RE ARk ERT5 RATAGSFITH? 0.5 278 182 91 0 5
i 2| BE AR PR AR 2| BE AT K AT 1 BEATEREITH? 25 1176 1028 0 50 98
il 1EEAREHR ABEATEZEITH? REARMBILZATHI3 24 698 579 0 29 920
il 2| RER IR 4| BEARTHUMAFETS BE AR T ZEERT6 0.1 25 19 6 0 0
i 1EEAESIR REATHESHET £5 REARMTT=HT 1.6 114 85 0 27 2
il 4|EEAZ E#R (1HE) 2|AEARTHEZ BHET BEATIIFRATH13 1.9 221 221 0 0 0
il A|RABRTRE 1 SR SRR A|REARTERETI T B REAR T REEATS 15 15 0 0 0
i 1|BEARZE B 2|REATREHESTH2 REAN T/ LT 3.7 103 103 0 0 0
il A|REARELR 6|RERTRAEAR4T A7 REATRREANSTHT 0.2 116 116 0 0 0
il A|REARESR 2|REARTRIREAST A7 REATERETXF TEEH 5.2 1474 1474 0 0 0
i 4| ERRERLR 2| REAR T Al AT BE AT EIBITEI 5.6 1356 1356 0 0 0
i 4|BRN)IREEZR 2| BEAR T & A BT REAR it 2 AT 22 62 62 0 0 0
i 4|20 REEGH 2| REAR T Al AT REAR T/ \E 3.3 260 260 0 0 0
i 2/ HR 2BEARTREFRST H2 REATH$ES T B3 0.8 39 39 0 0 0
i 4 f7K)I R 2|BEARTHE2T B2 BEATREST H14 0.8 129 129 0 0 0
i 4| B RGERR 2| RE AR RERTEE REARTRGERTRE 0.8 200 200 0 0 0
i 1|MAFREAER 2| BEAR T THR)IIET REAR T F ERARHT 1 6.6 2250 2242 0 2 6
i HEESE 4| BE AT ZEEIRT6 RE AT F AR A BT 0.3 380 374 4 0 2
i 2| BEARF ISR 2|BEATHES REATEEABEAITHS 1.1 127 114 1 0 12
i HEESE 20BEATHAEMMEAITHS |AEAmAEMITHI6 1.2 240 231 1 0 8
[it] 2|RERFISHR 2|REARTEEMITE16 REATEEEIT BY 1.7 399 379 0 2 18
il 1| REAH 548 2| A&7 T 4E A T 3 HE A 2 FE BT 5 A 1.2 221 221 0 0 0
i 1| — B EEIS 2|\ EUI RET I\ A FEA T EHET 48 550 446 104 0 0
i 4| — R EE3S 2|\ = R T XEFET I\ Z R FRIET 94 94 0 0 0
i 4| —hREE4455 2| /\RTRET {ZHE J\RTTRET EX 11.6 9 9 0 0 0
i 4| — i EE4455 2|/\RTRET EK J\RTRET #HE 9.2 27 27 0 0 0
1 4| K& AXH/\RER 2|\ R EREE—FHT J\RTFTHE KX£H 134 553 553 0 0 0
il 1| —BEE2215 2] ANETH T HET A B th K AEET 3.9 28 28 0 0 0
il 2| — R EE2215 2| NE K AHET & X R ET 9.3 24 24 0 0 0
i 2| — R EE4455 2| NS TR EET & RERL AT 2.1 202 202 0 0 0
i 2| — R EE4455 2| NE T FBRLSFHT A ST FER SR AT 0.7 134 134 0 0 0
i) 2| — R EE4455 2) NETFERLSFHT PN=iiEA=1 0.8 152 152 0 0 0
il 1| — A EE4455 AP ik = ASE M EHEFHET 0.8 77 77 0 0 0
i 2| — R EE4455 2 NEH EEFHAT A E KET 0.7 205 205 0 0 0
i 2| — A EE445 2| N E KAT A BT AR 1.1 30 29 0 1 0
i 1| — A EE2085 2| EMER FEMRE 4.1 196 173 0 0 23
i 1| —fEEE389F A|FERMEYVILEIITHIO |[REHRE 24 439 374 63 0 2
i 4| —REEE3895 METRE FEMRE 0.5 126 126 0 0 0
i 2| — A EE389E METRE FEMRE 0.5 20 9 5 0 6
il 1| — AR EE389S 2MEMRE FEm4K 3.7 275 197 3 0 75
i AFERMER 2)mEMRFIL FETFA 1.4 27 27 0 0 0
i 4| & I ER PAbid =ikl FETFA 119 119 0 0 0
i 4| &I EFR 2|EEHRA FERRA 0.6 21 21 0 0 0
i 2 REHETELR FMETRE FIEMRE 62 62 0 0 0
i 1| —BEES 2 KEHINERKR KETNES 1.4 21 14 5 0 2
i 2| —REEESS 2 KEHINERKR KEERHWITHS 0.8 30 30 0 0 0
[t 2| — M EE3S 2| KR EHMIT BS KETOEY»E2 0.4 2 2 0 0 0
it 2| KEEEXZETHR 2| KRTHEFRI2T B3 KIRTTASHITH4 1.2 105 105 0 0 0
it 1[KEREXBETHR 2| KETTASHIST H4 KR AZRH2TH1 1.3 228 227 0 0 1
i 1| — AR EE2085 2| FEA™H-FRAT EFATFH 58 58 0 0 0
E&TH 2| — % EE2085 AEX A icd:| EX ALy 37 240 240 0 0 0
T 1|— A EE2085 PAEXA L FRTKEAR FEF 3.7 272 272 0 0 0
E&TH 2| — % EE2085 2| EATIREART PR |EAHIREAR FEEF 0.8 18 18 0 0 0
E&TH 1|—BEE501S 2| EA T AERT FHAHRKET ZBER 42 106 84 0 0 22
& 1| —BEE501S 2| ERTRKAT BHAR |ELHHRKE MK 1.4 34 34 0 0 0
E& T 2{BEAELRR EAT-REATAR B [FAHRKE DX 25 11 11 0 0 0
E&TH 2RERELR 2| FERTRKET PR FRHRKE IR 2.3 137 137 0 0 0
E&TH 1EERERLR 2| FERTRKET PR FRHRKET ITE 1.3 64 64 0 0 0
E&TH 1EERERLR 2| ER/HARKET BHAR |FEHTXE 120 120 0 0 0
E&TH 2| ER/\Z4R 2| ERHERA FEHESR 1.6 66 66 0 0 0
E&TH 2| ERMIELR 2 FELTEH EETRGL 0.6 98 98 0 0 0
E&TH 2 EMERRR AEXA ks EX ALy 0.1 15 15 0 0 0
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i 1| ERERR 2| E&HAHA FEMHFELS 5.3 207 207 0 0 0
i 2 EREHISITREFR AET N EX Al 0.2 28 28 0 0 0
H ELEEBIREFR PAE X%l FRHIIREF 2 325 325 0 0 0
i 1|BEFEEES AR )ERTHER FaTAE 1.9 30 30 0 0 0
[it] NEESET] 2|Efm /A XNy 25 8 8 0 0 0
L] 2|EE3S 2ILETREILET E% g2 9.4 214 100 11 0 103
L] EEEREE 2| IEMER IR L E 6.6 335 222 88 1 24
L] HEEEREE 2T P RE Wi - e AT X 15 45 95 69 25 0 1
G 1|EE3255 2|lLEETAEA \IETEAR ER 5.3 659 652 1 0 6
L] 2|EiE3255% [ILETEAR ER \IEHEAR ER 0.7 45 44 0 0 1
L] 1|E&3255 2T EARR KR WWETEARE Teis 0.8 38 37 1 0 0
L] 2|EE3255 2IUETEARR TetfE |ILETEXRE EE 1.2 7 7 0 0 0
H 1|EE4435 2| ILEETHERMA LI EE T g T 39 63 62 0 1 0
i HEEZST] 2lLEm%EEN FRE [ IWEmEAR ER 9.1 218 217 1 0 0
il 1 EARRILER 2| \UETEILET 5% IETEIE 5% 6.9 56 56 0 0 0
bl EZ IR 2| \LETIRE ILWETABE 45 157 157 0 0 0
il HEREE 2|\ ZEET LA IETEILE 5% 15.1 200 196 0 0 4
il 1 ILEEAE AR AN IR RE b8 6.8 229 227 2 0 0
G HEINEES 2 ILEETREARRT )il \IETEAR ER 3.9 151 151 0 0 0
il 12 AR (61180) 2|\ 2 IIEhREAR KR 12 315 315 0 0 0
il HEEEEST 2L A RA IIET AR HFH 14 106 106 0 0 0
il 1B ILEERR 2|ILEET AR \LI BE T T 3.3 157 156 1 0 0
il 1B RALER 2|l A RA \gE T ILEE 39 609 603 2 0 4
i 1| —HEEE3255 2| Fth i K #2721 FthmgIb12790 3 75 75 0 0 0
i 1| — R EE325% 2| %t Th BB FF597-1 Fithth KhF272-1 05 30 30 0 0 0
i 2| — R EE3255 2|3t K F1279 L850 0.8 4 4 0 0 0
i 1| —AEEE387E -1 2| Fth T2 E412-6 %t T B AT1298-9 1.8 68 68 0 0 0
i 2| —REEE387 51 2| %t TR FF 1298-9 %t T BRAT1040-10 0.3 51 51 0 0 0
i 1| —AEEE387E-1 2| %t TR FF1040-10 35t BEAT597-1 0.8 202 202 0 0 0
i 1| —BEESTS 2|+ HEORT FrHRIF 47 172 147 0 1 24
i 4| FERETIR 1|+ E B F L hERET 0.2 1 1 0 0 0
i 4| FERETIR 1|+ E B FLhERE 0.4 2 2 0 0 0
Lit] 1| —BEESTS 2|+ T~ AT Frm{EEA 47 132 117 0 0 15
b 1| —HEEESE 4| FITIMEET BhE FIRMIAMEET BT 1.1 44 34 2 0 8
b 2| —REEESS 4| FITIMERET BhE FIRTTIAMEE AS 1.1 66 56 3 0 7
b 2| —REELESS A|FHAIMEET A8 FIRTTIAMEE AS 1 34 19 3 0 12
b 2| —REELESS 2| FHAIMERT A8 FIRTTIAMEE 218 1 50 37 0 0 13
it 2| —REELESS 2| FIHAIMERT 218 FyT/MIE JLETE 3.9 171 120 17 0 34
it 2| —REEESS 2|FyRm/NIERT JEETE | YR/ IE TEE 0.8 54 40 8 0 6
fitl 2| —HRELESS 2|Fym/NIEBT STEE FyRT/MIET eI 0.4 34 22 0 0 12
fitl 2| —HRELESS 2|y /ML FEAL/ANMI | 3R/ IR FEAL/MI 0.2 32 28 2 0 2
fitl 2| —HEEE3S 2| =t/ IET FEAE/NMI S/ BT B/ 0.8 21 12 0 0 9
fitl 2| — i EES TS 2|FiBm=MAT it FHT=A XAE 3.1 69 55 0 0 14
it 2| —REEESTH AFWH=FA/ XKAE |FHRH=A XHAE 0.4 24 24 0 0 0
fitl 1| —BEESTS AFWH=FA/ XKAE |FHRH=H =fAH 48 169 139 0 0 30
fitl 2| — i EES TS AFWH=FH =AHE |FRH=FAH =AH 0.8 52 52 0 0 0
b 2| —EEE2185 4| FHTIMEET A8 FIRTTIAMEET #HIIA 1.6 35 24 0 0 11
[ii] 2| —fREE2185 2| HAMERT CEIIA | TR 2R L 26 50 26 0 0 24
it 2| —REEE2185 2| TS SR (L FH SR 1L 0.8 12 12 0 0 0
fitl 1| —BEE218%5 2| ST LG FRTEHE 4H 26 55 55 0 0 0
fitl 2| — A EE2665 AFWH=FA0 =AH |FRH=FA =& 0.7 5 5 0 0 0
fitl 2| — A EE2665 |FHH=FA =AH |FTHH=A =& 0.2 5 5 0 0 0
b 2| — AR EE2665 2FWH=MET =fAF |FHH=H KP 1 162 162 0 0 0
L] 2| — A EE2665 2|FH=MET RS FRT=AE 5.7 90 90 0 0 0
fitl 2| — A EE2665 2|FiH=MET i FERT T NET WE 9.7 65 65 0 0 0
L] 1| — A EE266S 2|FWHTHMAEAT WE  |FERH T NET S 5.2 97 97 0 0 0
it 2| —REEE2665 2)FWHAHMAET BH  |FEHHATHMAE S8 1.1 104 90 0 14 0
Lt} 2| —HREE2665 /FWHTHAET BB |FEHHTHAE S8 04 55 55 0 0 0
i 2| — A EE2665 2FWHTHAET BB | FEHAIMEE HME 0.6 53 51 0 0 2
b 2| —REEE2665 2| FHETTAMERT tAME FHRTIMBET ME 0.3 3 3 0 0 0
it 2| —REEE2665 2| FHETTAMERT tAME FIRTHIAMEET BT 1.2 145 145 0 0 0
il 2| — R EE2665 2| I AMERT BhE FHMEE SR 1.2 79 75 0 0 4
il 2| — R EE266% 2| AMERT SRIL | FEmIMEET R 25 66 66 0 0 0
fitl HA\RBFTR 2|FEm/NIET FE FIRTTIAMEE 2% 3.6 173 160 0 0 13
b 2\ REBFER 2| I TIMERET 2% FIRTTIAMEET B 2.3 80 79 1 0 0
Lt} 2|/ \REFF 2| FIRTMERET B FHHAEKET FHER 1.6 157 113 5 7 32
i 2| MBI E ISR 2| P AEKET #E [T IMEET ME 0.8 106 73 0 24 9
it 1 [MBEEIGIR 2| FIRTTIAERT IS FRTMER A8 2 297 271 0 21 5
it 2| /NERSE) R ER 2|/ NG | SFIRTTAMBET T 23 103 103 0 0 0
il 2| FR/NERSE I R R 2| YT AMEHET T T AEET #EIIA 27 42 40 0 0 2
i 2| MMV E—1R 2| W AMEET HRIL | FIEHRiEET HIIR 3.3 61 52 0 4 5
it 2| \RTH1 X8 2| FHET/MIET REA [FEHATMAE S8 5.3 100 59 0 1 40
FXEH 2| —fEEE2665 A EXRETNEHE &2 |EXEHAXHH ¢ 3.8 20 20 0 0 0
EXEH 2| — R EIE2665 QEREHAKREH F [EXEHALEE & 4.2 87 83 4 0 0
LXEH 1| — R EE2665 EXREHAXKE | EXEH-FHE § 6.7 88 88 0 0 0
LXEH A S EXREHALER & | EXEHAKEFH & 6.9 320 320 0 0 0
XEM 2| —fEEE2665 2/XRETBIGE &I X BT A A AT 09 3 3 0 0 0
XEM 2| — i EE2665 2| RE M S MY RETH R 5.9 303 303 0 0 0
i 2| — R EE266% 2| REH TRET RETEARR Fi5 2.1 13 13 0 0 0
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XEf 2| —HEEE2665 2| REMIHAR 5 XETHEAE 55 0.5 21 21 0 0 0
XEH 1| —HEEE3245 2| RE M -FALET IE XEHRME —iT 2 181 181 0 0 0
XEH 2| —HEEIE3245 2| XREMAFAT 5T XEHRNET B 44 92 92 0 0 0
XEH 2| —HEEIE3245 2| REMAFNAT RBith XEHRE #HE 44 205 204 0 1 0
XEH 2| —HEEIE3245 2| XETHRFAT HEE XEMAMET #H58 1.3 45 37 0 8 0
XEH 2| —fREIE3245 2| REMAFNAT 158 XEMSER16 5.1 435 362 0 73 0
XEH 2| —fREE3245 2| REHSERT16 XEHART21 1 213 199 0 13 1
XEH 2| —fEEE3245 2| REMART21 XEH&IGHE &)1 1.3 140 123 0 17 0
XEH 2| — MR EE3245 2| REHEIGRT &)l XEHRIFGHE )1 0.1 1 1 0 0 0
XEH 1| —AEEiE3245 2| RE M S AT XETHHRAR LEH 10.4 315 279 0 0 36
XEH 2| —fREE3245 2| XKEMAHEART b | XETHHAN HEH 1.7 6 6 0 0 0
XEH 2| —fEEE3245 2)XREMAHMART EiEH | XEHAHRAN KXH 7.6 181 181 0 0 0
XEH 2| —fREE3245 2| REMAEART KH XETHHBAN KXH 1.5 33 33 0 0 0
XEH 2| —fREIE3245 2| REMAEART KiH XEH- EXEH 1§ 2.1 13 13 0 0 0
XEf 1 RESFR 2| REMHEIGRT &)l XETEE 2.3 233 233 0 0 0
XEH 2| KB R 2| RE mAdHAT XEHHME NEih 8.6 124 124 0 0 0
XEH AEETET] 2| R E 4 R AT KE 4 RET 4.6 657 657 0 0 0
XEH 4| FFERER AEES - V-1 XEH_HE BE 9.7 307 307 0 0 0
XEH 2| KRIEELR 2| REART2 XE T ART20 0.7 65 65 0 0 0
&Em HANMEESEEERSREIGHR | 4| SEHEAR EEmAR 22 315 315 0 0 0
akm 1| —#EE387H 2016EMEE EEHER 6.6 652 647 0 0 5
&Em 1| KIZHEAER 2006EmESE AETHAE 3.9 144 144 0 0 0
akm 1|RERREIR 2|6EMAR EEHMESE 7.9 339 338 0 0 1
&Em 1BERKRER 2 EENEAE EEHEAE 2.4 329 329 0 0 0
aEm 1EEHERR 2 EENEAE EETHEAE 1.1 124 124 0 0 0
& &t 515.5| 33,376 31,509 563 298 1,006
& 100.0% 94.4% 1.7% 0.9% 3.0%
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